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Questions

Period of tan 4x s
Period of cos 2x s
Period of sin 3xis
Period of cot xis
Period of sec xis
Period of cosec x is

Period of tan x is

Period of cos xis

Period of sin xis

Range of cot xis

Range of tan xis

Range of sec xis

Range of cos xis

Range of cosec xis

Range of sin xis

Domain of cot x is
Domain of tan x is
Domain of sec xis
Domain of cos xis
Domain of cosec x is

Domain of sin xis
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Answers Choice
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Negative real numbers
R-{x|-1&lt; x &lt; 1}
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Negative real numbers
R-{x|-1&lt x&lt; 1}
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Negative real numbers
None of these
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B.
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D.

A. trigonometric equation
B. conditional equation
C. identity

D. None

D. both a &mp; c
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Question Image
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General solution of 1 + cos x=0 is

The solution set of trigonometric equation contains

B. two elements
C. three elements
D. Infinite elements



